EARAZROREIERT — 2 N—XBISY —F 20216308 (k) 7EEZEHE2H

mgag%—:>7‘7f—/<—3 4 5% 3% ‘[fﬂi]% ‘[?éiﬁ%lasﬁ] — |5 @) 1900 &
[AE4£] 1% :380,000” ~ 237%&:122,000  ~ 33#%:68,000  ~ 43#%&:46,000™ . 53 :30,000
B\ BB BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
— e N . 9 _E ALt :31. —-5-5- . — StEz (BEHE)
ilglg| =Ny rd—nk 3 fi 1(3_1)9 4-5-5-3 | 39.9 1 :1_314) ed
LANT =TI BiNA—ELTr—F X L
R 3 | SHEX 1:32.0 1-1-1-1 | 40.8| — 2 479 | TEEM (BHE)
2077 |TA>2)I - 54.0 (1/2) (o) | HAKER
R:vayFihrT BvALTFo—kL BEZZY K
5 f 3 | AEiE 1:32.7 8-8-8-6 [39.9| — 5 437 | BB (RHE)
3 3| 7—%% 52.0 @) 1) Py
L:bh=—trya—-4> BEIECT TS
7 4 3 | BIHRA 1:33.0 5-4-4-5 |41.1| — 6 469 WEX (BHE)
4 6 27) =LA =7 56.0 a 1/2) +1) HEM AT
L:ECTRyY B:aaz=HFT7 BH77—L4
N . HLILE— :33. 00— . - ROHEE (BHE)
5055 oty7> 4 3 & 1(33/:«11)2 2-2-2-2 | 41.8 4 425)3 o
R:O—X%> 4L B:YF/HhT— 27 a4
o MEE= :33. —6-6- . = SiEEy (BHE)
61111 Ty TY19T 4 3 s 1(333)9 7-6-6-7 | 41.5 3 (4_522) Sl
LNMLTSY B:Reoxq4ELY Y EEEDE e
N s KA : -3-3- - BREX (BHE)
1 > Pl =a e R e AR ’ f; $8 5 H i
Ribh—t>T77bo B b—E2NFIXX BREM IXT7177—4
R =T . 77 _ BO%E (BHE)
8 NS ESDrP it 3 <a>52_0 1.(355).6 6-7-7-8 | 42.8 7 <4+218) i &
x40 B:LTF4PT ML fisibie ]
® I —F—EBIERL
13=zr= 7,5,2,8,6,4,1,3
2o=7r= 7,5,2,6,8,1,4,3
Ga=r= 7,5,2,6,8,1,4,3
43—+ — 7,5,8,2,6,3,1,4
[ RN
B OB 8 120 714K 7-8 250M B = 7-8 650M 3ER 3-7-8 1,730H
% B 8 100M 3-8 220 B H 8-7 860 JEH G=7=3 3,970
7 1704 3-7 1,060
3 1509

ARICOVWTRDTEEERROODE. TR LIV,



